N = 0 &8 AF S 9 Al A
SN EABAD
M S AJHEALS
chel: 22l s CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
SAIEE 11,072,863 14,019,127 N2,946,264
= 1,663,500
hag 211,000
S 600,000
& 297,548
= 8,300,815
SAIDHE A 5,007,971 8,654,372 N 3,646,401
rag 211,000
S 600,000
= 4,196,971
= 22| H &l 854,924 1,081,550 N 226,626
SAITHA A 715,800 878,800 A 163,000
201 Bt A H| 14,000 16,000 A 2,000
01 At 2t2l ] 14,000 16,000 A 2,000
OZAMMAY =X E22 H& 3,000
OZAIMAMUIs 2H(M3D1) 11,000
202 04d| 1,800 2,800 A 1,000
01 2L Y| 1,800 2,800 A 1,000
OEATHMAIYE &2 F& 1,800
— 2204 Hl 50,000& 23 18 1,800
401 Al HI L 2 0HHI 700,000 860,000 A 160,000
01 A& HI 700,000 860,000 A 160,000
OgZE TAMM 245X 700,000
—EX L AE HLYH] 700,000
22| A E 25,500 149,500 A 124,000
201 Yet2 | 25,500 49,500 £ 24,000
01 At 22l ] 3,500 5,500 A 2,000
O HEANE ME3102 2,000
ORY0|9Z2 ttetAsl HE T2 AIE & 1,500
02 352494l 22,000 44,000 A 22,000
OZAIHEHEHAH(UPIS) Sz 29 22,000
CAMMEALAE 2 113,624 53,250 60,374
101 2121 4| 90,124 53,250 36,874
04 JI2ZtHIZ22XNSE S 90,124 53,250 36,874
OZEANMMIIAME 249 90,124
— M & 185,200 *1H 83| »13& 19,261
—MEIE 2,501,000 » 12 %13 32,513
— MRS 1,879,600& x1¥ «13& 24,435
— 5282 56,947,800& *10% 5,695
—AZ2t=224 21,000& *10Al 2F*12 A1 2¢ 2,520
— 2o (22) 50,000& 3% 18 2,700




D SAEE
M AN ANY
P =22 HE

2 S 4
CEB - HS(3H) - HBAY - B Ol At o %@ﬁ HRE2
— H&E S| 500,000 x3H 23| 3,000
201 et Y| 23,500 0 23,500
01 AP 2t 2] d| 20,000 0 20,000
OZEAMMI|AH 22 249 20,000
02 =224 H| 3,500 0 3,500
022223 500,000 x7& 3,500
HEAEAS 4,153,047 7,572,822 N3,419,775
oy 211,000
S 600,000
= 3,342,047
D22 HE AL 22 13,000 14,300 A 1,300
201 LBt 9| 13,000 14,300 A 1,300
01 AP 22| d| 13,000 14,300 A 1,300
O HESI =25X ¢ 3,000
O ZL8WA WES(HOIEY=RE) 10,000
HEAEW AMASK 24 1,550,000 500,000 1,050,000
401 AlEHIZL 201 Y| 1,550,000 500,000 1,050,000
01 Al&H| 1,550,000 500,000 1,050,000
OZHEANALAW AFRX HE(0DI22X,2D/01&
o) 200,000
OUA X R Q22 HAEX BAat 200,000
OSsSAFZE0ITE &€ A2 HUEX 24 260,000
OFEAxSst & ETANFIH HUEX B4 640,000
OzZd FAEH(22nd) 2HEC2 HAEX &2
o 200,000
OZSM(E22-21)8A T2 THAEX B4 50,000
DHEETZ SAES 353,000 600,000 A 247,000
206 M = dl 3,000 3,000 0
01 X2 bl 3,000 3,000 0
OAIIIRIEZ 218824+ E5tE 2 3,000
401 Al EHI L 204 HI 350,000 597,000 A 247,000
1 Al&H| 350,000 597,000 A 247,000
OANIX =240 B 150,000
OZAHEEZZ F0HEP2 50,000
Og&dH ZHE =2 A 50,000
OAIIXN &2 EX8Y AX 100,000
2SS MK E2&8F A 250,000 0 250,000
401 Al HI L £ 0HHI 250,000 0 250,000
01 Al& B 250,000 0 250,000
OIAFANE~EHOIEAIAHE OtA2 EZ & 150,000




2N SAEE D

M TAINEAE

SR ZASAIEAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZZSUELIISEEH 022 ZH 100,000
SEEA~-=2E235 62 ZHEEZ A 200,000 100,000 100,000
401 A& HIZ 2018 200,000 100,000 100,000
01 A& HI 200,000 100,000 100,000
OSEEIA~-=E283 62 ZHEEZ WA 200,000
SEM~H8uizt &2 2% 600,000 500,000 100,000
= 600,000
401 AIEHI L 20 600,000 500,000 100,000
s 600,000
01 A& HI 596,220 496,425 99,795
SEM~Hddux2t &2 &F 596,220
= 596,220
03 Al 2 THHI 3,780 3,575 205
OS2~ 8uxz2t &2 &%
600,000,000& *0.63% 3,780
£ 3,780
22 S2(422) HE 300,000 300,000 0
401 Al HI K 201 I 300,000 300,000 0
01 A& HI 297,840 297,855 A15
O22M ZHEEZ HE 297,840
03 A& =TI 2,160 2,145 15
OZ22M ZHEEZZ K&
300,000,000& *0.72% 2,160
SAFESOIE € &2 W4 200,000 0 200,000
401 A& HIZ 2018 200,000 0 200,000
01 A& HI 198,560 0 198,560
O=sAM=30IE &€ &2 N4 198,560
03 Al 20 HI 1,440 0 1,440
O=sAM=30IIE &€ &2 W4
200,000,000& *0.72% 1,440
FAxSsEW & EAFIHE 24 171,224 600,000 A428,776
401 AIEHI L 2 CHYI 171,224 600,000 AN428,776
01 A& HI 170,000 596,243 NA426,243
OZF=ssn & ZAFIE =4 170,000
03 Al 2 THHI 1,224 3,757 A2,533
OYBZESSD ¢ TANEHNE T4
170,000,000& *0.72% 1,224
o SSAHE SE 4 - AS - SE F ST 211,000 334,000 A 123,000
s 211,000
403 Ut SHHSA=0l& 211,000 334,000 A 123,000
s 211,000




2N SAEE D

M TAINEAE

SR ZASAIEAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 S 2S0CHet A =& 2 & AL H 211,000 334,000 A 123,000
O4F SYAHES S8 44 45 S8 ¥
Eia=] 211,000
s 211,000
EdEE 200212 =4 80,000 800,000 A720,000
401 Al HI K 201 I 80,000 800,000 A720,000
01 A& HI 80,000 794,991 AT14,991
Ot g 200212 gaH 22 =2
) 80,000
SAZEE (S |1 Ha) 200,000 500,000 300,000
401 AIEHI L 20HEI 200,000 500,000 A.300,000
01 A& tl 200,000 496,400 A 296,400
SEM sw 32 200,000
S DEAY =&A 24,823 24,772 51
101 @14 Hl 3,383 3,332 51
04 JIZHHZ2XRHEE S 3,383 3,332 51
O=2UAHAH & = 22 HA 3,383
— QI H| 69,7603 x4H 12 3,349
—MTHEEZE 3,349,000& * 1% 34
201 L2l 13,440 13,440 0
02 =224l 13,440 13,440 0
O =AUAHAU X2 400, 000& 3074 2 12,000
OZ&xd HIRs 60,0003 x2)H A 12 1,440
402 RI2HA=20| M 8,000 8,000 0
01 2I2E 2 A B & (KA ) 8,000 8,000 0
O=s2Zn= FHl AEISW AR2tE ZXH|
1,000,000 *8H 2~ 8,000
oI ES 5,872,712 5,175,653 697,059
= 1,663,500
= 297,548
s 3,911,664
A8 M It 1,622,893 1,621,517 1,376
= 874,900
< 68,310
s 679,683
2EMO 435t 32,520 30,820 1,700
201 Let249] 8,400 6,400 2,000
01 At 22/l 6,000 6,400 A 400
O+=ZIANE 22 =
100,000 »3% A 300
O==&Z3AMN =2 50,0003 1300 2 *43] 2,600
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2N SAEE D

g N2
J

Cel: BAEA JIHEA (crl ®a)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

OJIZEESHUERD 24 IANS AHALE 6,000
= 3,000
= 3,000

s 38X ZJIHX XS 880,000 804,000 76,000
= 528,000
= 35,200
o 316,800

301 dEtE M= 880,000 804,000 76,000
= 528,000
& 35,200
= 316,800

12 JIEtE A= 880,000 804,000 76,000
CSAKI XIJIHX X (550CH) 880,000
= 528,000
& 35,200
= 316,800

LPGSIE X} &KX X 200,000 120,000 80,000
= 100,000
= 10,000
= 90,000

402 BI2H X 20| M 200,000 120,000 80,000
= 100,000
= 10,000
= 90,000

02 QIZEXIEANSE X (0| XM THL) 200,000 120,000 80,000
OLPGSIE2XH Al 2 XI¥  4,000,000& x50CH 200,000
= 100,000
& 10,000
o 90,000

SHALSX HIEILA (PM-Nox) S A N2 A 15,000 75,000 A 60,000
= 7,500
& 750
= 6,750

402 SI2F 20| & 15,000 75,000 A 60,000
= 7,500
& 750
= 6,750

02 BIZtXIEANYE X (0OIETHH) 15,000 75,000 A 60,000
OPM-NOXx SAMZEX 22 XK(1H) 15,000
= 7,500
= 750
= 6,750

O M2 &K (DPF) 23 X 182,400 31,113 151,287
= 91,200
o= 9,120
= 82,080

402 SI2HXHE0| ™ 182,400 31,113 151,287




2N SAEE D

g N2
J

Hel: SAEA JIBHEY (S &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 91,200
& 9,120
= 82,080
02 BIZtXIEANYEX(0OIETHH) 182,400 31,113 151,287
OMHAM2EXI(DPF) 2= X
3,800,000& ~48CH 182,400
= 91,200
& 9,120
o 82,080
A H AX WH XS 66,000 33,000 33,000
= 39,600
= 2,640
= 23,760
402 SI2FXHE0| & 66,000 33,000 33,000
= 39,600
& 2,640
= 23,760
02 BIZtXIEANYEX(0OIETHSA) 66,000 33,000 33,000
OAEIAH A& DH X3 16,500, 000& =4 CH 66,000
= 39,600
o= 2,640
= 23,760
el ol S&xteol LPGRH & & K& 125,000 35,000 90,000
= 62,500
= 62,500
402 SI2vXHE0| & 125,000 35,000 90,000
= 62,500
= 62,500
02 QIZtXIE A EX (0| XM THSH) 125,000 35,000 90,000
O0elol Es X9 LPGXIE M& X
5,000,000 *250H 125,000
= 62,500
= 62,500
e J=sA B E2AHY 6,000 3,100 2,900
= 3,600
= 2,400
402 SI2t X0l & 6,000 3,100 2,900
= 3,600
= 2,400
02 QI2ZtXIE A EX (0| XM THSH) 6,000 3,100 2,900
O JEs N2 B2 6,000
— 2B E 200,000 =30CH 6,000
= 3,600
= 2,400
FAH=E EBFEL ES ALY 4,000 4,000 0
& 1,600
= 2,400




2N

M NHSBEES
Cel: BAEA JIHEA CCHR-ED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 4,000 4,000 0
< 1,600
s 2,400
02 QI EASEZ (01X ) 4,000 4,000 0
OFAAE 2SZEL 2S5 A
800,000& +5CH 4,000
< 1,600
s 2,400
olegsdd 249 - 2l 18,360 18,360 0
< 9,000
s 9,360
201 ¢er24| 18,360 18,360 0
< 9,000
s 9,360
02 =224l 18,360 18,360 0
OoHlIg=saa Y Stes
30,000& 122 360
OI2adEdEY 29 22 18,000
< 9,000
[ia 9,000
OIMSX a5 7R 22| 2,520 0 2,520
201 L4l 2,520 0 2,520
02 =224l 2,520 0 2,520
OOIMER dss HY SH=E
11,000 1200 A+ 123 1,584
OO0IMYR dE5S MRS
26,0003 30 2128 936
OAISX SHHE Y - Z2A2 2F 45,000 0 45,000
= 22,500
s 22,500
101 14 Hl 45,000 0 45,000
= 22,500
i 22,500
04 JI1ZtHNZ22 s 45,000 0 45,000
OOIMEZX SHHZE HYZAE 29 45,000
= 22,500
s 22,500
3I/133tE sMEH AMd XJAS 4,000 0 4,000
402 RIZEX20l A 4,000 0 4,000
01 U2 EALE X (KA MR) 4,000 0 4,000
O3J1&s& =M3H A& &X XN
2,000,000& «2J4 & 4,000
OESE B3 134,256 266,438 A 132,182
= 14,100
= 23,998




2N SAEE D
g N2

2 OlMsSsE B3 (e H)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 96, 158
OfME=E B 9,838 10,288 AN 450
201 B9 3,538 1,888 1,650
01 AP 22| H| 3,538 1,888 1,650
O%gHd = M (a7, HA) 20,0002 *300H 600
ogg, dHel X E22 M=
250 x4, 0008 1,000
OfKoHotMES ZE S0l EX(NeE)PL
330 *5,0000H 1,650
OEANMXY KRHMSE FHES T8 Z4
8,000 x22 x18Y 288
206 M = dl 2,500 4,600 A 2,100
01 X2 H| 2,500 4,600 A2,100
OtMEZ I H ¢ 25,000 100K 2,500
301 et M= 3,800 3,800 0
09 HAIAHI X & 2 2,000 3,800 A 1,800
OEMXNY KRil0tMsS=E L2 &5 B4 2,000
12 JIEtE A= 1,800 0 1,800
ORMNtMEE JIsPHHY L& =X
60,000 x30H 1,800
fM=E=E 258 29 22,548 16,658 5,890
< 5,581
= 16,967
101 Q124 H] 22,548 16,658 5,890
< 5,581
= 16,967
04 JI2ZtHIZ22NEE S 22,548 16,658 5,890
Oltiss 258 2¢9 22,548
— oAy 69,7603 2% 160 22,324
& 5,581
= 16,743
—AHEE 22,324,000 x1% 224
OFM=Z2 HoHHEAE XNFAD(SEEIE) 28,200 40,100 A 11,900
= 14,100
= 14,100
402 SI2F 20| & 28,200 40,100 A 11,900
= 14,100
= 14,100
02 BIZtXIEANYEX(0OIETHH) 28,200 40, 100 A 11,900
O OtM=s=2 HIcHUHEAIE XN& AL 28,200
= 14,100
= 14,100
OIMEEZ &2 HolEN 20,000 10,000 10,000
= 5,000




2M: SAEZD
dM: NS ZES
&€ otdsE2 ES (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 15,000
301 LEXZ 20,000 10,000 10,000
< 5,000
s 15,000
12 JIEtE4 3 20,000 10,000 10,000
OS2 s&E T2 4 20,000
< 5,000
[ia 15,000
soiotMEE 28 XA 53,670 49,392 4,278
< 13,417
[ia 40,253
301 LPEAF 42,000 42,000 0
< 10,500
[ia 31,500
12 JIEtE 43 42,000 42,000 0
ORolorMSS (X, Detll) X8 243
A& 42,000
= 10,500
s 31,500
307 21201 A 11,670 7,392 4,278
< 2,917
s 8,753
06 23 11,670 7,392 4,278
ORdiold=ss 28 282 K& 11,670
< 2,917
s 8,753
SHLHEZE AT 2 SENEEH 954,194 1,380,554 A 426,360
= 454,000
< 88,740
[ia 411,454
SI2FHA oY 32,214 132,214 100,000
201 Let24dH] 31,354 31,354 0
01 At 22/l 27,700 27,700 0
Oger==EH| 27,700
— S AND YHEH(ERE S) 7
100,000 10 A 1,000
— =9 JI8Y0 IHM(QLHA) 2
400,000& *3H 1,200
~EYQY S AREM 4242
400,000& *3H & 1,200
— AN, HHEAEE NEEHZE M
50,000& x12& 600
—ZSxEL LIS N A
150& =4,666 Ml CH 700
—WHEOtA SETH FEAM 22E
200,000& +5CH 1,000
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BMN: SAEHEDL
M NHEIAES
Cel: BAQHESH WEANETE SHNCTE (el:de)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 365,260
03 2t/ EFAFS HI 908,000 761,360 146,640
O&dI0lE Hel XNIAAMY 908,000
= 454,000
& 88,740
= 365,260
MEHIIZE ¥ 22 3,161,369 1,907, 144 1,254,225
= 320,500
== 116,500
iy 2,724,369
sStFAAHH 29 932,936 877,972 54,964
201 Bt A H| 621,079 561,730 59,349
01 Al 22! H| 177,332 133,732 43,600
OB+ gH| 176,762
— ARA AREE 7Y 100,000% * 122 1,200
— HI&HTH ™ 2l bl 400,000& x150& 60,000
— A 2UAN =2 10,600
Xl B %= 250, 0003 x4 4 A~ %4 3] 4,000
HES 550,000& «12& 6,600
—COISA ZA =222 5,000
—UIIEEE IIIIEE Y =2
1,500,000& *52== 78,000
— &) oML 2 800,000& ~12& 9,600
— ABAIE FHIIZA =42 800
— R0 FHEY =2 220,000& 128 2,640
—NHEEEE =5 1,000, 000& *23] 2,000
—CCTV /28 =2 100,000& *12& 1,200
— A2ZAIE HEELH HSZSEAL =2 250
— A2ZPAIE HI|AAH(18]/38) =2 1,862
— A2ZAIE 2| QHHAA =22
50, 000& *5CH 250
—A2ZAIE SISEH 294l 220,000& x12& 2,640
— A2ZPAIE 2AFHTAH 29| 60,000& x12& 720
(@E==1s] 570
— &= 70,000) *3H *23] 420
— OtA 3 50,000& *3H 150
02 3524l 443,747 427,998 15,749
02222 % HA 156,000
— M3 12,000,000 x12& 144,000
—A2AANE HEHAES MEE
1,000,000& x12& 12,000
O XH&Fd| 3,200
— =&, XIHX 2E€& 500,000& =3CH 1,500
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